Data One;

Input ID $ X Y1 ;

Cards;

A 1 1

B 2 2 

B 3 3

D 4 4

E 0 0 

;

Data Two;

Input ID $ X A2 ;

Cards;

A 5 5 

A 6 6 

B 7 7

C 8 8

E 11 11

E 11 11 

;

run;

Data Three;

Merge One Two (drop= x);

By ID;

Proc Print Data= Three;

Title3 'Merge One Two';

run;

Data Four;

Merge Two One;

By ID;

Proc Print Data= Four;

Title3 'Merge Two One';

run;

Proc SQL;

Create Table Five As Select * from one two  

Where One.ID= Two.ID;

Proc Print Data= Five;

Title3 'SQL';

Run;

proc sql; drop table six; run;

Proc SQL;

Create Table Six as Select * from one inner join two on one.id= two.id;

Proc Print Data= six; Title3 'six';

run;
